Directions (1-25) : What should come inplace ~(a) 13 225
of question mark (?)inthe following questions? (¢) 216 @14
1. (16x5)~(5x4)-52= 24 (€) None of these
@4 ®)45 11, 04x75+06x25
©32 @2 @125 ®)155
(©) None of these ©1s @145
2. 201 8L ot 0)-336 (©) None of these
12, 1596- 429447517
® 2 ®250 @48.19 ®) 4836
(© 450 @420 (@452
(&) None of these (©)Noncof these
397+ (F x271=(3)"
@6 ®)7
©s3 @s @42 ®7]
() None of theses 1 &
4. 56%of2+ 45=353 @73 @l
Sy, %14 (6 +(6) x216=6"7
5. 7396-1819+1747=2+1091 e D)6
@ 6233 ®)6143 O @4
© 5633 © 545 (6) None of these

(€) None of these

6. 59% of 693+7=630
@ 2113 () 23484
(©) 256,78 (@ 25897

(€) None of these

Liice el
@17 ©)163
o 6 @181
() None of these

8. 58321469386 =7 + 37098

(@) 91619 (5) 90609
(©) 92609 (@8919
(€) None of these

9. 183442458 =774
(OFS )76
(©) 58 @62

(€) None of these

1613+
O
13 12
@ 2 )12
® g ®3
15 1
© 2 @1
O g

(©) None of these:

17, (3x4)' x (3x6)+ (95
@576 ()96
(©532 @si2
(¢) None of these.

18, 85445757 +1111=1255+7
(2463 (b) 2643
(© 2453 (@ 2653



:

() None of these.
19 25633-1432= 74 5544
(2) 18957 () 168,57
(©) 176,57 @ 18257
(€) None of these
20, (352x15%4)+ 124 20= ()"

(@ (14)* (ORNES
(@) 412 @14
©14

21, 7472+ 325722787
@8 )14
©15 @n

() None of these
22, (1) (6] (4)"

(@) 299475

(9) 21225

(¢) None of these
23. 75% 0f 250-2% of 380=54.5

() 748.6875
(&) #492.125

(6) None of theses

24, (46X 28x5.5)-(3.2x4.5%28)=" St“dym“‘g”“(ey None of these
B

(a) 36.28 (6)30.42
(c) 2835 (@)32.52
() None of these

25. V2304 x47 = 2832
()3249 (b) 3481
(© 3721 (d) 3969

(&) None of these
26. What least number should be added to 8200 to,

make it a perfect square numby
@ 81 (®)100
(©) 264 @154

(&) None of these
27. Find compound interest on ¥ 5500 in 2 years at.
the rate of 5 p.c.p.
(@2 588
(€T 56375
(€) None of these
28. When8' s subtracted from square of a murmber
e obtain 3577. Find the number.
@89
(@) 101
(e) None of these

()T 645
(@T535.50

29. Product of two consecutive even siumbers is
9408. Find the largest number
@ 9

(© 104

(¢) None of these
A cartravels 1204 Kim in 28 hours. Find speed
ofthe car.

(@) 61 Knih

(b) 43 K

(©) 56 Kmh

(d) Cannot be determined

(&) None of these.

Ratio of present age of Tarun and Varun is 3.7
Afier 4 years Varun's age will be 39 years. What
Was age of Tarun 4 years ago’

(8) 12 years (b) 13 years

(©) 19 years (@) 18 years

(&) None of these

Sum of five consecutive éven numbers is 170.
What will be the sum of square of second
largest number and least mumber

(O

9038

(b) 102
(@98

How many bags are required for filling 1296 kg
of wheat if each bag is filled with 144 kg of
wheat ?

@19 ®)15

@7 @9

(¢) None of these:
34. Ravi consistently runs 350 meters every day.
n Tuesday he runs 500 meters. How many
Kilometer will he run in 2 weeks ?
@45kn (b)48kn
(9)52km (@354kn
(¢) None of these
35. The simple ineeston € 25,000 n 3 yous is.
5O Prnciple. Find th rate of interest.

@5 )4
(©6 @3
(&) None of these.

36. Side of a square i equal (o diameter of a circle,
Area of square is 196 nr’. Find area of circle 7
@ H2em’ (b) 176 e’
(© 154 e’ (@ 132 em®
(&) None of these.



. Ratio of present age of Rakhi and Sitais 5:7. In

8 years Rakhi will be of 28 years. What was the
age of Sita 5 years carlier?

(a) 24 years (b) 28 years
(¢) 22 years (@21 years

(¢) None of these.

Directions (38-40): What should come in place of
the uestion mark (2) inthe folloving questions?
1216 24 36 2.

@30 )76

©72 @s2

(e) None of these.

.17 21 37 73 137 ()

@ 246 ()236
@24

(&) None of these.

620 412 308 256 230 ()

@ 217 (©)227

(©)207 @237

(e) None of these.

. Area of a rectangle is 18 times of area of

square. Length of rectangle is five fimes its
:Ef‘::. St Bt
(@) 145 em

(© 133em

(¢) None of these.
Sunil boightanaricle for 4000/- and sold itat

(b) 144 cm
@135 em

s overall gain o loss?
(@ Lossof T340 (5) GainofT 350

(©) Lossof 360 (@) No profit o loss
() None of these

Marks scored by sx persons of a group are 35,
48,25, 12, 65 and 34, Find average marks
scored by si persons.

@ 335

©356

(©)Noneof these

(®)365
@385

Fhateriay

4. Sahil scored 45 marks in Hindi, 47 marks in
Science, 49 marks in Maths, 45 marks in social
Science and 32 marks in English. I all paper
were autof 50, Find overall percentage of marks
obiaincd by Sahil
@ 895
(© 883
(e) None of these.

45. Sum of five consccutive odd mumbers is 175,
Find sum of square of second largest number
and least number.

(@) 3032
(©) 3320
(&) None of these.

46. Six boys can finsh a work in 16 hours. In how
many Hours § boys will inish the same work ?
@ 10 ®)8
@12 @14
(¢) None of these.

47. What will be the result when sum of (11)° and
(4)'is subtracted from the square of 27
(-» sso

(832
@872

(b)3230
(2360

@se
B ot e

"2 48. The simple interest accrued an a sum of T 20000

R T
@1 ®)2
@125
(©)Noneof these
49, Sum of § consecutive numbers is 170, Find
productoflargest and least umbr,
@ 1512 ©) 1102
© s @210
(&) Noneof these
0. Soml comsenly rin 20 o
et willshe run n 3 el
u) varkm (®)562km
(© 632km (@ 462km
(e)None of these

@2 15
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